SAP ABAP table FTPT FLIGHT FCMP {Assignment table: flights <-> rate components}

FTPT_FARE_COMP

MANDT [CLNT (3)]

PERNR [NUMC (8)]

REINR [NUMC (10)]
FIPT _FLIGHT FCMP-FARE_COMP = FTPT_FARE_COMP-VARIANTVRS 0N PLANNR [NUMC (2)]

-7 VARIANT [NUMC (2)]

-7 VARIANTVRS [NUMC (2)]

-7 FARE_COMP [NUMC (3)]

FTPT_FLIGHT FCMP-SERVICE = FTPT FLIGHTITEM FTPT FLIGHT

ST -- MANDT [CLNT (3)]

- - PERNR [NUMC (8)]

- - __ ~ | REINR [NUMC (10)]

{0.1} TRLANNR [NUMC (2)]

VARIANT [NUMC (2)]

VARIANTVRS [NUMC (2)]

ITEM [NUMC (3)]

SERVICE [NUMC (3)]




